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| Important Question for SSC CGL 2017 By Alok Sir |

24 men can do a piece of work in 17 days. How many
men will be able to do it in 51 days ?

24 o TRt &9 @t 17 7 § &< Wahd 81 51 g # fovaqt
JEH TH HW HI T HT Tehit?

(a) 8 (b) 10 (c) 12 (de6

In a cyclic quadrilateral ABCD, the side AB is
extended to a point X. If ~XBC =82° and #DB =47
then the value of #BDC is

T& 9&g gt ABCD § A B 47 &l fog X & agran
ST 81 AfE /XBC = 82° 3R /DB=47° @ @ /BDC
(a) 40° (b) 35° (c) 35° (d) 25°

The marked price is 10% higher than the cost price.
A discount of 10% is given to the marked price. In
this kind of sale the seller

3ifha Jod d Tod ¥ 10% 3fae g1 3ifehd Iod uX 10% i
gz & TE 31 3W YHR @t fawmt A fkar @y -

(a) bears no gain, no loss (AT qr o 7 S A = %)

(b) gains (9 ©)

(c) loses 1% (1% ot BT %)

(d) None of these (378 ¥ &I &)

Two numbers whose sum is

Tt " et anee 85 B, frafafaa & @ fe sgum
o &l € uehdt § ?

(a)5:7 (b)13:8 (©)1:3 (d)3:2

By selling cloth at Rs. 9 per metre, a shopkeeper
loses 10%. Find the rate at which it should be sold so
as to earn profit of 15%

Tortit gHMER &I HIg HUST & 9 Ufd WeT H1 gT W e W
10% &1 T et §1 TAE & HUST fFE T W ST SMC
T8 gHMER &l 15% T @19 & ?

(a) Rs. 11. 20 (b) Rs. 11. 30 (c) Rs. 11. 40 (d) Rs. 11.50

After selling 5% of a quantity of sugar, 5 kgs of
sugar remains. Find the total quantity of sugar?

T+ ®t FHT T BT 5% WFT foh 4 & a0g 5 Towmn ==
Fedt B <t Hi HeT qET Saqrgu?

@19kg ()5 % ke  (©)100kg (d) 95 kg

A train 110 metres long is running with a speed of 60
kmph . In what time will it pass a man who is
runing at 6 kmph in the direction opposite to that in
which the train is going ?

110 T, Tl 27 60 Tt wfa 92 &t TR & o1 W@ §1 9
HI3 |Afh ¢ &t faudia faen & 6 f&wt wfa @2 &t TR &
g w1 & @ sary fr 29 =fw @ fead 3T F UR aaE
T SR ?

10.

11.

12,

13.

14.

15.

(b) 6 second
(d) 10 second

(a) 5 seconds

(c) 7 second

If x = at? and y = 2 at then
'd'Fq’x:atZ 3ﬁ'{'y=2ﬁﬁ

(@) x? =4ay (b) y% = 4ax
©x2+y2 = a2 @ x2 - y2 = a2
1 +y2
If xy + yzx =1, then the value of ———— is
(x+y)(x+2)

1 +y2 .

qfE xy +yzx =1 &, @ ——2 &1 7 Famsdl ?
(x+y)(x+2)

(a) 2 (b) 3 (c) 4 @1

If PQ and PR be the two tangents to a circle with
centre O such that ZQPR =120° then ZPOQ is

aig et g@ fwer &= 0 &, & @ @yl 3@
ZQPR =120° & ®IUT /POQ 4T BRI ?

(a) 90° (b) 45° (c) 30° (d) 60°

In AABC, if 2 BAC =90° and AB = AC, then ZABC is

AABC ¥ 9§ 2 BAC = 90° 3R AB= AC § @ ZABC T
g ?

(a) 30° (b) 60° (c) 45° (d) 25°

The value of tan 315° cot(-405°) is equal to

tan 315° cot(-405°) T WH AT &AM ?

(a)-1 (b)1 (©0 (d) 2

Among three numbers, second is twice the first and
aslo thrice the thrid. If the average of the three
numbers is 33, then the alrgest number is

i wEel W gEll U Ugelt WE W g i dtet
e ¥ ?1 afe @A wEeh &1 Iied 33 & A waw
gt TE & it grit ?

(a) 36 (b) 54 (c) 62 (d 72

The average of 100 items was found to be 30. If at the
time of calculation, two items were wrongly taken
as 32 and 12 instead of 24 and 11, then the correct
average is

100 W&l 1 3T 30 UTET AT | At et & W9 & 7l i
23 3T 11 & TIF WX TTerdt & 32 i 12 FF1 o & ot wet
aftea @ gnm ?

(a) 29.8 (b) 29 (c) 29.9 (d) 29.5

A box weighs 8.5 kg when full of sand and weights
5.5 kg when it is half filled with sand. Weight of the
empty box is

g T T 36 @ W g1 &1 A IHAT aw 8.5 TR ghelt
2 3R o1& 97 e W AT & @t IHwT a9 5.5 TomAT et 2
@relt a1 &1 a9 Jargy ?
(a) 5 kg (b) 6 kg

(c)2.5kg (d)4.5kg
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16.

17.

18.

19.

20.

21.

22,

Ifa-}%:l andb-}l:l,thenthevalue ofc-}lis
c a

trFq'a+%=1 aﬁ1b+l=1ﬁ,a’rc+lmmwaﬁm?
C a

(a)0 (b) 1 ()-1 (d)2
Two circles touch externally. The sum of their areas

is 130 1 s.q. cm (taking =n =%) and the distance

between their centres is 14 ecm. The radius of the
bigger circle is

g g9 qET o W HId | 3R GARS & AR 1307
at & o & (a‘gnnﬁgqu;::%)aﬁ?'ﬂ%ﬁ%ﬁa

H1 g 14 G 3| & ATt g9 HI sar Fang ?

(a) 22 cm (b) 11 cm (¢)33cm  (d) 44 cm

In an equilateral triangle of side 24 cm, a circle is
inscribed touching its sides. The area of the
remaining portion of the triangle is approximately

equl to (assuming n = ? V8 =1.732)

et wwaTg fre @ fwat 9o 24 99 § U@ ot<da g St
3OS YRl ® Wy HY W R YT & 99 AW Hw
gAHA oW fhEeh XX AT G WHd gU f&

(assuming n = % V3 =1.732)

(2)36.6 cm? (b)54.2cm?  (c) 72.8 em? (d) 98.5 cm?

If the elevation of the Sun changes from 30° to 60°,
then the difference between the lengths of shadows
of a pole 15 m high, is

(a) 7.5 m (b) 15m (¢) 1043 m (d) 5¥/3m

If a sum of Rs. 12500 is invested for 1 year at 12% per
annum interest being compounded semi-annually,
then interest earned is

Ifg 12500 &t WHT &l 12% TS &t &X & fag Fawr fea
U 3 S ® qe-AM¥w &Y € G fRar e @
foraa st faem ?

(a) Rs. 1505 (b) Rs. 1535

If tan(x -B) =1, sec(« +B) =%

then the smallest value of « is

¢ tan(e -B) =1, sec(u+|3):%€f3ﬁ'{'u,ﬁﬁﬁ o bl

(c) Rs. 1545 (d) Rs. 1550

and o B are possitive

FAGH W T gRT 2
1 P 1 r°
(@142 (b)187 @75 (D37

The pie-chart, given here monthly expenses on
various heads and savings of the family of Mr. Rao.
Study the chart and answer the questions based on
it.

Education

Entertainment

23.

24,

25.

Tgt fau T urd = fire v & ufter & fafvs we w =
YT O &1 ST B AIE T ANHAA HIWT qAT TH W
e g9+ & AL &MY |

The amount spent on food exceeds the total amount
spent on education and clothing by

IS U S99 @t T i fYTen a9 gei et o &t
TR gt TR A fenet ottt @ 2

(a) 12%% (b) 25% © 33%% (d) 50%

The pie-chart, given here show study the chart and
answer the questions based on it.

Tt feu 7 urd = fiex wa & uftar & fafus uef X ==
AT O bl IYIAT §1 WS T IMLAAA WU AT TH UT
anenfa yv=t & Iu s

What percent of his income does Mr. Rao save?

firex Ta ot g Hidwa ufavra &t aod w22
(a) 25% (b) 30% ()33 %% (d) 36%

The pie-chart, given here shows monthly expenses
on various heads and savings of the family of Mr.
Rao. Study the chart and answer the questions
based on it.

Tgt fqu U utg = fieex @ & uRer & fafve wel X =
AT TG i TPAT &1 WS T SNLAAT HIWT AT T UT
e J91 & AT Tl

If the total income of Mr. Rao is Rs. 72000, how much
house rent does he pay?

it firet @ &t Fo1 Wfdw 3T & 72000 § @ 9€ fHat
e Hene & v & 29 2

(a) Rs 5400 (b) Rs. 9000

(c) Rs. 108000 (d)Rs.12000

The pie-chart, given here shows monthly expenses
on various heads and savings of the family of Mr.
Rao. Study the chart and answer the questions
based on it.

Tt feu T urg o fiRex g & uiar & fafus wel X ==
qAAT qEd HI IYUAT Bl AR T ATAT HiSW qAT 3T UT
enfa gyl & X N |

What percent of his income, does Mr. Rao spend on
clothing , transport and entertainment combined
together ?

firet e &, uREea iR FHE W et e &T ot
I &1 fehaaT wfaera wET @ @ § ?

(a) 3315% (b) 27% ©25% (@ 12%%
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— ANSWER KEY
1. (@) 2. (b) 3. (¢) 4. (d) 5. (d) 6. (b) 7. (b) 8. (b) 9. (d) 10. (¢)
11. (c) 12. (b)  13. (b) 14. () 15. (c) 16. (b) 17. (b) 18. (d) 19. ()  20. (¢
21. (b) 22. ()  23.(b) 24. (c) 25. (d)
Note : * for None of these
HINT & SOLUTIONS
1. MD, _MjyD, i (b) 84
! /\
wl w2 ! . -
24 X7 Myx51 i 13:8 -
- ! =—x13
w w1 : 21
24 x17=Mq %51 i =52
My =8 i =84 -52
i (c) 84
2. D C | /\
i 1:3 a
| L) x1
! 4
i =21
82° |
A\/B R ! =84-21
i (d) 84
ZBDC =? : /\
o i 3:2
ZCBX =82 : 84
! = #Int tion i
o CBA =180 -82 : 5 nteger, so option 1s answer
=98° i
5 a@’jﬁfﬁ U T AT 180° @?ﬂ%l i S. Ist method: o
ZCDA + £ ABC =180° | Required = 90~ 115
Z CDA +98° =80° i _115
Z CDA =82° i 10
ZCDA = £ ADB+ /BDC ! =11.5 % /HiX
82 =47+ 2 BDC ' 2nd method :
/ BDC =82 47 = 35° : ;_Oich_ﬁ
ZBDC =35° i 10% I 10-Cp
! 9 - Sp
3. 1 : 9 -9 ®
10% = = !
10 : Cp= 109 510 ®
10 makegequal i profit = 15%
| 10 x115 e
loxlO 11)(10 i Sp — 100 - 11 5 K/
10411 911 '
100 99 | B. 1 — Sold
l \_/ l i 5% — 20 — orignal
=il S | 0= ..
Cp p ' 19 — remaining
1% loss i 19'*{&12 — 5 kg
i 1 ?{F"E’ — il kg
4. Do this question by options ! 159
(a) 84 | orignal = 20 unit — — x 20
/\ i 19
8:7 ! _100
%5 ; 1
! =5k
! 19 8
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7. Distance = length of train

=110 mtr
. Distance
time ——M——
Relative speed
Train
60km /hr
Relative speed =60 + 6

=66 mtr
=66 x 5 m/sec
18

110
66><i
18
_110x18
66 x5
=10 x18
6 x5

=2x3 =6 sec

Time =

8. «x= atz,y =2ab
x2=a?+4 ,y2 =4a%?
Now, check options-
(a) x? = 4ay
at* =4 xax2%
=4a’%
(Not satisfied)
(b) y? =4ax
40?2 = 4 xaxat?
40?2 = 4a%?

9. Ifxy+yz+zx=1
o 1+y2
_(x+y)(y+z)
1+y2

_xy+yz+zx+y2

xy+yz+zx+y2

=xy+yz+zx

xy+y2+xz+yz

=1
10.
T4 &1 e g W T 3@ W EHhIT S 7
£ OQP =90°
ZQPO=/R-PO = 1220
-60°
AOQP
£ POQ+ Z OQP + £ QPO =180°
ZPOQ+90° +60° =180°
£ POQ =30°

11. e
- BA = AC

12.

13.

14.

15.

16.

17.

ZC=2B=8 (let)
ZA+ 2B+ £C =180°
90 + 26 =180
6 =45°
Z ABC =8 =45°
tan 315° cot(-505°)
tan 315° # (— cot 405°)
= cot(—8) = —cotB)
=tan315-cot 405
= tan(360 —45°)

cot(360 + 45°)

= (—tan 45) cot 45
——(-1)

=1l
3 G @1 3T (average) = 33
I (sum) =33%3
=99
figur
119 — <%
19 — 1
largest =2nd =6 unit =9x6
=54
23 & WM W 32
error =23-32=-9
11 & ¥IH | 12
error =11-12=-1
e =-9-1=-10
average =ﬁ=—0‘1
100
.. New average =30-0-1
=299
Box+iﬁ=8‘5kg
Box + ? =5-5kg
2Box + 3d =11kg
(i) — @)
Box =11-8-5=2:-5kg
a+%=1
b+l=1
c
c+—=?

a
But the value & get the answer

1
==,b=2c=(-1
a 3 c=(-1)
1

e
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n+r =14 ... given
nrlz + JU‘22 =1307 ... given
n2+n? =130
(n + r22) -2nry =130
(14)2 - 2nr, =130
196 -130 = 2Ry
2nry =66
nry =33
n+rp=14

rn =11, rp =3 Satisfied

=11 cm

n =9 g9 &t e
18. TR

S
r—2\/§
o2
243
_12_12 43
v3 V3 8
r=443
Area of circle
Area of A

3

=2 o side?
4

=£><(24)2
4

= ? x 24 x 24
=6x24+/3
=14443

Area of shaded portion
=144+/3 - 48n

=14o\/§-48><%

=140 x1-732—-3-14 x 48
=249-408-150:72

=98-6 cm?
19. figur
CD =BD -BC
=153 - 543
CD =10+/3 mtr
20. r=12%

when intrest in compounded half -yearly (Sel SIS 315

affer G 1)
r=6%

t =2 DUE!

r=12-36%
let P =100 unit
CI =12:36 unit
100 2 — 12500 &

=12 =n(4+/3)2 =481

1 9FE — 125 ®
12-36 € — 125x12-36
=1545 &
21. tan(u-B)=1
2
sec(t —B) = i
tan(e —B) =1 =tan 45°
o-B8=45° (@)
2
sec(t —B) = i
cos(@ + B =cos30°
= co0s(360 —30°)
cos(@ —B) = cos300°
o—-B=330° ..(d)
o —-B=330°
o—08=45°
o = 330 + 45
2
= % =187 1;
(22-25)
22. On Food On education +clothing
90° : 27° +18°
90 : 45
2 : 1
figure
23. total income = 360°
Savings =108°
Savings % = 108: %x100%
o % x100%
=30%
24. 360° — 7200
1° — Roo
Rent =54° — 54 x 200
=10,800
25. Clothing =18°

Transport =14°

o

Entertaiment =

Required %
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